V-BRACKET ASSEMBLY

IMPORTANT: Check components and read complete
instructions before starting assembly !

V-MOUNT BRACKET

PN VBR-1616
QTY (2)

The same bracket is used for Upper and Lower mounts.

o

I~
(]

38//

o/

18//

0
— d

-

12" END TRIM
PN VVC-o0112
QTY (1)

IMPORTANT:

0
_—

-

32" END TRIM
PN VVC-0132
QTY (1)

Your kit will contain the
12" End Trim
OR
32" End Trim
Depending upon which kit
you have purchased.
The kit does not contain both.

FASTENERS

(8) Cage Nut #C7931-1024-4

(8) #12 Pan Head Wood Screw

(8) Plastic Anchor

(8) #10-24 x5/8" Pan Head Machine Screw

Wall Control PO BOX 42 Tucker.

GA 20085

www.wallcontrol.com




CAGE NUT
INSTALLATION

Cage Nut
Typical

Spring Clip A
Cage Nut

Tab /
Square
Hole . .
Spring Clip B
Fig. 2
Spring Clip A
Straight Blade
Screwdriver
Spring Clip B
Fig. 3
Both Spring Clips
Thru Open%ng =

Fig. 4

Wall Control PO BOX 42 Tucker. GA 2008~

—

V-MOUNT BRACKET

Fig. 1

Step 1

( If Cage Nuts are pre-installed skip to Step #4)

Cage nuts need to be installed into the square
opening in each of the (4> Tabs on the V-Mount
Bracket. Cage Nuts install from the inside out
with the spring Clips on the nut entering the
opening first. Fig #1 and Fig# 2

Step 2 (Suggest using gloves )

Enter Spring Clip A all the way thru the square
opehning. Place the blade of a small straight blade
screwdriver in the back of Spring Clip B. Depress
Clip B and push Cage Nut fully into the opening.
Figh 3

Step 3

When properly installed both spring clips will be
extended thru the Tak. Nut should have some
freedom of movement within the cage.

Repeat installation on all (4> Tabs on both
Mount Broackets, Fig.#4

www.wallcontrol.com




Wall flange
faces

outward

Wall Control PO BOX 42 Tucker. GA 2008~

END TRIM ALIGNMENT

Align round hole In E
center of Cage Nut in Tab center of Cage Nut in Ta

END TRIM

nd Trim with Align round hole In End TrILn with

MOUNT BRACKET
MOUNT BRACKET

Fig. 5

Step 4

Position Mount Bracket 32’ apart (or 12’ apart depending upon kit purchased)
with the wall flanges oagainst a flat surface (the floor or a workbench top

work very well), MAKE CERTAIN THAT THE WALL MOUNT FLANGES ARE FACING OUTWARD.

This will have the mount tabs with cage nuts facing inwarod.
Figh S

Step 5

Position the End Trim over the ends of the (2> Mount Brackets and align the
round holes in the the End Trim with the installed cage nuts in the Tak.
DO NOT INSTALL ANY SCREWS AT THIS TIME,

(Screws get installed in Step 6. The End Trim is secured by being sandwiched
between the PegBoard panel and the Mount Bracket)

Figh S

Wall flange

www.wallcontrol.com




PANEL INSTALLATION

END TRIM
MOUNT BRACKET

#10-24 x 5/8°
Pon Head Machlhe Screw
(4> Places each panel.

/ :

[©)

Z PEGBOARD PANEL

Fig. 6

Step 6

X

MOUNT BRACKET

Position Pegboard Panel against (4> mount Tabs on the V-Brackets. Pass (2
#10-24 x 35/8" machine screws thru the panel and End Trim on the upper two

corners and loosely tighten.

Pass (2) more #10-24 x 35/8’ machine screws thru the other two corners and

loosely tighten.
Repeat Step 6 for other side of assembly.
After oll screws oare installed they con be tightened.

Figh 6

PEGBOARD PANELS ARE SOLD SEPARATELY

Wall Control PO BOX 42 Tucker. GA 2008~

www.wallcontrol.com




	_Instruction_Page4.pdf
	_Instruction_Page3.pdf
	_Instruction_Page2.pdf
	_Instruction_Page1.pdf

